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BT T2 | MR T8 T = x
X 55811 122,707 59,679 63,028
=z 632 1,451 727 724
REFZHT 1,689 3,790 1,908 1,882
FEET 212 457 249 208
FE T 1,068 2,298 1,105 1,193
MR 1,379 2,880 1,347 1,533
NG 255 515 260 255
FRET 1,806 3,947 1,902 2,045
AE 776 1,829 896 933
itz 1,791 3,937 1,892 2,045
Fazsdt 2,193 5,275 2,653 2,622
TIEET 2,921 7,266 3,505 3,761
i 627 1,436 722 714
TERET1T 863 1,779 891 888
TERET2T 847 1,859 907 952
TERET3T 944 2,323 1,134 1,189
TERET4T 546 1,248 610 638
TERETS T 639 1,530 791 739
3,839 8,739 4,333 4,406
J\E=FHT 808 1,791 875 916
J\EILHT 2,356 5,367 2,622 2,745
J\ETET1T 4 7 5 2
J\BTET2T 1,240 2,301 1,074 1,227
J\BTET3T 547 1,083 549 534
1,791 3,391 1,628 1,763
J\EFZHT 427 722 347 375
B/\H 571 1,221 595 626
B 2,374 5,527 2,718 2,809
EH 1,340 3,184 1,603 1,581
EFALET 2,340 4,940 2314 2,626
EFIRET 1,775 3,322 1,586 1,736
EHIFKHET 2,774 5,578 2,723 2,855
R R HET 3,613 7,881 3,820 4,061
R LT 1,224 2,987 1,487 1,500
PRI RHET 1,218 2,780 1,356 1,424
EH K ET 1,495 3,182 1,607 1,575
RBR 5 6 4 2
ER1T 557 1,227 582 645
ER2T 504 1,117 544 573
ER3T 288 661 312 349
ER4AT 513 1,161 597 564
ERST 239 511 254 257
ER6T 455 954 479 475
2,561 5,637 2,772 2,865
12H 5596 12,776 6,140 6,636
RE 683 1,435 683 752
¥& _EHT 1,582 3,471 1,715 1,756
RErL 343 730 350 380
= [RET 1,752 2,965 1,239 1,726
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